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select * from action_log_201311 where aff_id = 'uh5QID8H84709385'
update action_log_201311 set

commission_cost =0,

commission_cost_cl = 0,

status = O,

admit_date ="

where aff_id = 'uh5QID8H84709385'

select * from stat_log_201311 where m_id = 619 and c_id = 902 and item_id = 1508 and p_id = 1 and stat_date = '2013-11-18"
update stat_log_201311 set

admit_count_pc = admit_count_pc - 1,

admit_item_count_pc = admit_item_count_pc - 1,

action_cost_pc = action_cost_pc - 5000,

action_cost_cl_pc = action_cost_cl_pc - 7000

where stat_log_id = 10137

select * from stat_log_media_201311 where m_id = 619 and stat_date ='2013-11-18"
update stat_log_media_201311 set

admit_count_pc = admit_count_pc - 1,

action_cost_pc = action_cost_pc - 5000,

action_cost_cl_pc = action_cost_cl_pc - 7000

where stat_log_id = 764

select * from stat_log_client_201311 where c_id = 902 and stat_date = '2013-11-18'
update stat_log_client_201311 set

admit_count_pc = admit_count_pc - 1,

action_cost_pc = action_cost_pc - 5000,

action_cost_cl_pc = action_cost_cl_pc - 7000

where stat_log_id = 4366

select * from stat_log_item_201311 where c_id = 902 and item_id = 1508 and stat_date = '2013-11-18'
update stat_log_item_201311 set
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admit_count_pc = admit_count_pc - 1,
admit_item_count_pc = admit_item_count_pc - 1,
action_cost_pc = action_cost_pc - 5000,
action_cost_cl_pc = action_cost_cl_pc - 7000
where stat_log_id = 1222

select * from action_log_201311 where aff_id = 'i3zG031984732673'

update action_log_201311 set
commission_cost =0,
commission_cost_cl = 0,

status = 0,

admit_date ="

where aff_id = 'i32G031984732673'

select * from stat_log_201311 where m_id = 619 and c_id = 902 and item_id = 1508 and p_id = 1 and stat_date = '2013-11-18"

update stat_log_201311 set

admit_count_pc = admit_count_pc - 1,
admit_item_count_pc = admit_item_count_pc - 1,
action_cost_pc = action_cost_pc - 5000,
action_cost_cl_pc = action_cost_cl_pc - 7000
where stat_log_id = 10137

select * from stat_log_media_201311 where m_id = 619 and stat_date = '2013-11-18"

update stat_log_media_201311 set
admit_count_pc = admit_count_pc - 1,
action_cost_pc = action_cost_pc - 5000,
action_cost_cl_pc = action_cost_cl_pc - 7000

where stat_log_id = 764

select * from stat_log_client_201311 where c_id = 902 and stat_date = '2013-11-18'

update stat_log_client_201311 set
admit_count_pc = admit_count_pc - 1,
action_cost_pc = action_cost_pc - 5000,
action_cost_cl_pc = action_cost_cl_pc - 7000
where stat_log_id = 4366

select * from stat_log_item_201311 where c_id = 902 and item_id = 1508 and stat_date = '2013-11-18'

update stat_log_item_201311 set
admit_count_pc = admit_count_pc - 1,
admit_item_count_pc = admit_item_count_pc - 1,
action_cost_pc = action_cost_pc - 5000,
action_cost_cl_pc = action_cost_cl_pc - 7000
where stat_log_id = 1222

select * from action_log_201311 where aff_id = '0OEg4nbZK84730050'

update action_log_201311 set
commission_cost =0,
commission_cost_cl = 0,

status = 0,

admit_date ="

where aff_id = '0Eg4nbZK84730050"

select * from stat_log_201311 where m_id = 619 and c_id = 902 and item_id = 1508 and p_id = 1 and stat_date = '2013-11-18"
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update stat_log_201311 set

admit_count_pc = admit_count_pc - 1,
admit_item_count_pc = admit_item_count_pc - 1,
action_cost_pc = action_cost_pc - 5000,
action_cost_cl_pc = action_cost_cl_pc - 7000
where stat_log_id = 10137

select * from stat_log_media_201311 where m_id = 619 and stat_date = '2013-11-18'
update stat_log_media_201311 set

admit_count_pc = admit_count_pc - 1,

action_cost_pc = action_cost_pc - 5000,

action_cost_cl_pc = action_cost_cl_pc - 7000

where stat_log_id = 764

select * from stat_log_client_201311 where c_id = 902 and stat_date = '2013-11-18'
update stat_log_client_201311 set

admit_count_pc = admit_count_pc - 1,

action_cost_pc = action_cost_pc - 5000,

action_cost_cl_pc = action_cost_cl_pc - 7000

where stat_log_id = 4366

select * from stat_log_item_201311 where c_id = 902 and item_id = 1508 and stat_date = '2013-11-18"
update stat_log_item_201311 set

admit_count_pc = admit_count_pc - 1,

admit_item_count_pc = admit_item_count_pc - 1,

action_cost_pc = action_cost_pc - 5000,

action_cost_cl_pc = action_cost_cl_pc - 7000

where stat_log_id = 1222

select * from action_log_201311 where aff_id = '2QpPCLO084728444'
update action_log_201311 set

commission_cost =0,

commission_cost_cl = 0,

status = O,

admit_date ="

where aff_id ='2QpPCLO084728444'

select * from stat_log_201311 where m_id = 619 and c_id = 902 and item_id = 1508 and p_id = 1 and stat_date = '2013-11-18'
update stat_log_201311 set

admit_count_pc = admit_count_pc - 1,

admit_item_count_pc = admit_item_count_pc - 1,

action_cost_pc = action_cost_pc - 5000,

action_cost_cl_pc = action_cost_cl_pc - 7000

where stat_log_id = 10137

select * from stat_log_media_201311 where m_id = 619 and stat_date = '2013-11-18"
update stat_log_media_201311 set

admit_count_pc = admit_count_pc - 1,

action_cost_pc = action_cost_pc - 5000,

action_cost_cl_pc = action_cost_cl_pc - 7000

where stat_log_id = 764

select * from stat_log_client_201311 where c_id = 902 and stat_date = '2013-11-18'
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update stat_log_client_201311 set
admit_count_pc = admit_count_pc - 1,
action_cost_pc = action_cost_pc - 5000,
action_cost_cl_pc = action_cost_cl_pc - 7000
where stat_log_id = 4366

select * from stat_log_item_201311 where c_id = 902 and item_id = 1508 and stat_date = '2013-11-18'
update stat_log_item_201311 set

admit_count_pc = admit_count_pc - 1,

admit_item_count_pc = admit_item_count_pc - 1,

action_cost_pc = action_cost_pc - 5000,

action_cost_cl_pc = action_cost_cl_pc - 7000

where stat_log_id = 1222

select * from action_log_201311 where aff_id = 'zb2Y110284703323"
update action_log_201311 set

commission_cost =0,

commission_cost_cl =0,

status = 0,

admit_date ="

where aff_id ='zb2Y110284703323"

select * from stat_log_201311 where m_id = 619 and c_id = 902 and item_id = 1508 and p_id = 1 and stat_date = '2013-11-18"
update stat_log_201311 set

admit_count_pc = admit_count_pc - 1,

admit_item_count_pc = admit_item_count_pc - 1,

action_cost_pc = action_cost_pc - 5000,

action_cost_cl_pc = action_cost_cl_pc - 7000

where stat_log_id = 10137

select * from stat_log_media_201311 where m_id = 619 and stat_date = '2013-11-18"
update stat_log_media_201311 set

admit_count_pc = admit_count_pc - 1,

action_cost_pc = action_cost_pc - 5000,

action_cost_cl_pc = action_cost_cl_pc - 7000

where stat_log_id = 764

select * from stat_log_client_201311 where c_id = 902 and stat_date = '2013-11-18'
update stat_log_client_201311 set

admit_count_pc = admit_count_pc - 1,

action_cost_pc = action_cost_pc - 5000,

action_cost_cl_pc = action_cost_cl_pc - 7000

where stat_log_id = 4366

select * from stat_log_item_201311 where c_id = 902 and item_id = 1508 and stat_date = '2013-11-18'
update stat_log_item_201311 set

admit_count_pc = admit_count_pc - 1,

admit_item_count_pc = admit_item_count_pc - 1,

action_cost_pc = action_cost_pc - 5000,

action_cost_cl_pc = action_cost_cl_pc - 7000

where stat_log_id = 1222

select * from action_log_201311 where aff_id = 'Rq07h22f84702475'
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update action_log_201311 set
commission_cost =0,
commission_cost_cl =0,

status = O,

admit_date ="

where aff_id = 'Rq07h22f84702475'

select * from stat_log_201311 where m_id = 619 and c_id = 902 and item_id = 1508 and p_id = 1 and stat_date = '2013-11-18"

update stat_log_201311 set

admit_count_pc = admit_count_pc - 1,
admit_item_count_pc = admit_item_count_pc - 1,
action_cost_pc = action_cost_pc - 5000,
action_cost_cl_pc = action_cost_cl_pc - 7000
where stat_log_id = 10137

select * from stat_log_media_201311 where m_id = 619 and stat_date = '2013-11-18"
update stat_log_media_201311 set

admit_count_pc = admit_count_pc - 1,

action_cost_pc = action_cost_pc - 5000,

action_cost_cl_pc = action_cost_cl_pc - 7000

where stat_log_id = 764

select * from stat_log_client_201311 where c_id = 902 and stat_date = '2013-11-18"
update stat_log_client_201311 set

admit_count_pc = admit_count_pc - 1,

action_cost_pc = action_cost_pc - 5000,

action_cost_cl_pc = action_cost_cl_pc - 7000

where stat_log_id = 4366

select * from stat_log_item_201311 where c_id = 902 and item_id = 1508 and stat_date = '2013-11-18'
update stat_log_item_201311 set

admit_count_pc = admit_count_pc - 1,

admit_item_count_pc = admit_item_count_pc - 1,

action_cost_pc = action_cost_pc - 5000,

action_cost_cl_pc = action_cost_cl_pc - 7000

where stat_log_id = 1222
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